

On Likelihood Ratio Ordering of Parallel Systems with Exponential Components

J. Wang^{1*} and P. Zhao^{2**}

¹*School of Math. Sci., Kean Univ., USA*

²*School of Math. and Statist., Jiangsu Normal Univ., China*

Received September 13, 2015

Abstract—Let $T(\lambda_1, \dots, \lambda_n)$ be the lifetime of a parallel system consisting of exponential components with hazard rates $\lambda_1, \dots, \lambda_n$, respectively. For systems with only two components, Dykstra *et al.* (1997) showed that if (λ_1, λ_2) majorizes (γ_1, γ_2) , then $T(\lambda_1, \lambda_2)$ is larger than $T(\gamma_1, \gamma_2)$ in likelihood ratio order. In this paper, we extend this theorem to general parallel systems. We introduce a new partial order, the so-called d -larger order, and show that if $(\lambda_1, \dots, \lambda_n)$ is d -larger than $(\gamma_1, \dots, \gamma_n)$, then $T(\lambda_1, \dots, \lambda_n)$ is larger than $T(\gamma_1, \dots, \gamma_n)$ in likelihood ratio order.

Keywords: likelihood ratio order, order statistic, parallel system, stochastic comparison.

2010 Mathematics Subject Classification: 93E03, 90B25.

DOI: 10.3103/S1066530716020058

1. INTRODUCTION

Order statistics play an important role in statistical inference, reliability theory, operations research, and many other areas. For $i = 1, \dots, n$, let X_i be the lifetime of i th component in a parallel system, then the largest of X_1, \dots, X_n is the lifetime of the parallel system.

Since exponential distribution has nice mathematical form and is commonly-used in survival analysis, reliability analysis, and many other fields, so in this paper, we focus on exponential components. An exponential component means its lifetime follows an exponential distribution. Specifically, assume, for $i = 1, \dots, n$, that X_i follows the exponential distribution with hazard rate λ_i , then we denote by $T(\lambda_1, \dots, \lambda_n) = \max\{X_1, \dots, X_n\}$ as the lifetime of the parallel system consisting of components whose lifetimes are X_1, \dots, X_n respectively. By symmetry, we assume the hazard rate vector $(\lambda_1, \dots, \lambda_n)$ is in increasing order, that is, $0 < \lambda_1 \leq \dots \leq \lambda_n$.

So far, there is an extensive literature on stochastic comparison between two parallel systems with lifetimes $T(\lambda_1, \dots, \lambda_n)$ and $T(\gamma_1, \dots, \gamma_n)$. For example, Pledger and Proschan (1971) showed that $(\lambda_1, \dots, \lambda_n) \stackrel{m}{\succ} (\gamma_1, \dots, \gamma_n)$ implies $T(\lambda_1, \dots, \lambda_n) \geq_{st} T(\gamma_1, \dots, \gamma_n)$. Dykstra *et al.* (1997) enhanced the above result to reversed hazard rate order. Recently, Misra and Misra (2013) further extended the result to weak majorization. Here and in the sequel, $\stackrel{m}{\succ}$ stands for majorization order; $\stackrel{w}{\succ}$ for weak majorization order; \geq_{st} for the usual stochastic order; \geq_{hr} for hazard rate order; \geq_{rh} for reversed hazard rate order; and \geq_{lr} for likelihood ratio order. For more details on these majorization-type orders and various stochastic orders, see Shaked and Shanthikumar (2007) and Marshall *et al.* (2011).

As we know, the likelihood ratio order implies other stochastic orders. Hence the likelihood ratio order is the most interesting order in stochastic comparison. However, due to technical cumbersomeness, the results about likelihood ratio order between $T(\lambda_1, \dots, \lambda_n)$ and $T(\gamma_1, \dots, \gamma_n)$ are relatively few.

In the case of $n = 2$, Dykstra *et al.* (1997) showed that if $(\lambda_1, \lambda_2) \stackrel{m}{\succ} (\gamma_1, \gamma_2)$, then $T(\lambda_1, \lambda_2) \geq_{lr} T(\gamma_1, \gamma_2)$. We refer to this result as DKR theorem. Wang and Laniado (2015) extended this result to: If $(\gamma_1, \gamma_2) - (\lambda_1, \lambda_2) = a(1, -1) + b(1, \frac{1}{2})$, where $a, b \geq 0$, then $T(\lambda_1, \lambda_2) \geq_{lr} T(\gamma_1, \gamma_2)$.

*E-mail: jwang@kean.edu

**E-mail: zhaop@jsnu.edu.cn

It is well known that the DKR theorem cannot be extended directly to the cases of $n \geq 3$ (see Boland *et al.* (1994)). Under what condition $T(\lambda_1, \dots, \lambda_n) \geq_{lr} T(\gamma_1, \dots, \gamma_n)$ can hold is a problem that has not been well solved yet. Up to now, only a few results for special situations are available. Among them, Kochar and Xu (2015) showed that $T(\lambda_1, \dots, \lambda_n) \geq_{lr} T(\bar{\lambda}, \dots, \bar{\lambda})$, where $\bar{\lambda}$ is the average of $\lambda_1, \dots, \lambda_n$, and Torrado and Kochar (2015) showed that if $(\lambda_1, \dots, \lambda_1, \lambda_2, \dots, \lambda_2) \succ^m (\gamma_1, \dots, \gamma_1, \gamma_2, \dots, \gamma_2)$, then $T(\lambda_1, \dots, \lambda_1, \lambda_2, \dots, \lambda_2) \geq_{lr} T(\gamma_1, \dots, \gamma_1, \gamma_2, \dots, \gamma_2)$.

The DKR theorem indicates that the reliability of a parallel system (with two components) is stochastically increasing (in terms of likelihood ratio order) by unbalancing its components. So, $T(\lambda_1, \lambda_2) \geq_{lr} T(\lambda_1 + \delta, \lambda_2 - \delta)$ (with symmetry condition $\lambda_1 + \delta \leq \lambda_2 - \delta$). We thus say that the reliability of a parallel system is decreasing in the direction $(1, -1)$. As we can verify, when the best components in two parallel systems are identical, there is no likelihood ratio order between the systems. This fact indicates that the reliability of a parallel system is not decreasing in the direction $(0, 1)$, or $(1, \infty)$. However, by intuition, if the quality of the best component along with other components becomes better, the reliability of the system should improve. Hence the reliability of a parallel system should be decreasing in the direction $(1, a)$, $a < \infty$. Wang and Laniado (2015) proved this is true for $a = 1/2$. Thus the reliability of a parallel system (with two components) is decreasing in the directions $(1, -1)$, $(1, \frac{1}{2})$, and their combinations.

In this paper, we extend such a result to general parallel systems. We introduce a new partial order, the so-called d -larger order among the hazard rate vectors (denote as \succeq^d), and show that

$$(\lambda_1, \dots, \lambda_n) \succeq^d (\gamma_1, \dots, \gamma_n) \implies T(\lambda_1, \dots, \lambda_n) \geq_{lr} T(\gamma_1, \dots, \gamma_n).$$

The paper is organized as follows. In Section 2, we give some notation, definitions, and lemmas. Section 3 provides the proofs of the main results. The paper ends with a short discussion in Section 4. The proofs of the lemmas are moved to the Appendix.

2. NOTATION, DEFINITIONS, AND LEMMAS

Let X be a nonnegative continuous random variable with distribution function F_X , survival function $\bar{F}_X = 1 - F_X$, and density function f_X . The hazard function and the reversed hazard function of X are defined as $\lambda_X = f_X/\bar{F}_X$ and $r_X = f_X/F_X$, respectively. For two nonnegative continuous random variables X and Y , we say that X is larger than Y in the usual stochastic order (denoted by $X \geq_{st} Y$) if $\bar{F}_X(t) \geq \bar{F}_Y(t)$; X is larger than Y in hazard rate order (denoted by $X \geq_{hr} Y$) if $\lambda_X(t) \leq \lambda_Y(t)$; X is larger than Y in reversed hazard rate order (denoted by $X \geq_{rh} Y$) if $r_X(t) \geq r_Y(t)$; X is larger than Y in likelihood ratio order (denoted by $X \geq_{lr} Y$) if the ratio $f_X(t)/f_Y(t)$ is increasing in t . It is well known that the likelihood ratio order implies both the hazard rate order and reversed hazard rate order, while these two orders imply the usual stochastic order.

Given two vectors $\mathbf{a} = (a_1, a_2, \dots, a_n)$ and $\mathbf{b} = (b_1, b_2, \dots, b_n)$ with elements in increasing order, the vector \mathbf{a} is said to majorize the vector \mathbf{b} (denoted as $\mathbf{a} \succ^m \mathbf{b}$) if and only if $\sum_{i=1}^n a_i = \sum_{i=1}^n b_i$ and $\sum_{i=1}^k a_i \leq \sum_{i=1}^k b_i$ for $k = 1, \dots, n - 1$. If $\sum_{i=1}^k a_i \leq \sum_{i=1}^k b_i$ for all $k = 1, \dots, n$, then the vector \mathbf{a} is said to weakly majorize the vector \mathbf{b} (denoted as $\mathbf{a} \succ^w \mathbf{b}$).

For two vectors \mathbf{a} and \mathbf{b} , we say $\mathbf{a} = k\mathbf{b}$ if there is a positive number k such that $\mathbf{a} = k\mathbf{b}$. For given vectors $\mathbf{v}_1, \dots, \mathbf{v}_m$, we say that vector \mathbf{u} is a combination of $\mathbf{v}_1, \dots, \mathbf{v}_m$ if $\mathbf{u} = a_1\mathbf{v}_1 + \dots + a_m\mathbf{v}_m$, with $a_i \geq 0$ for $i = 1, \dots, m$. For $k = 2, \dots, n$, let $\boldsymbol{\epsilon}_k$ be the vector whose first element is 1 and the k th element is -1 , while all others are 0; and let $\boldsymbol{\delta}_k$ be the vector whose first element is 1 and k th element is $1/2$, while all others are 0. For two vectors \mathbf{a} and \mathbf{b} , if $\mathbf{b} - \mathbf{a}$ is a combination of $\boldsymbol{\epsilon}_k, \boldsymbol{\delta}_j$ ($k, j = 2, \dots, n$), then we say \mathbf{a} is d -larger than \mathbf{b} and denote it by $\mathbf{a} \succeq^d \mathbf{b}$.

Lemma 2.1. For vectors $\boldsymbol{\lambda} = (\lambda_1, \dots, \lambda_n)$ and $\boldsymbol{\gamma} = (\gamma_1, \dots, \gamma_n)$, if $\boldsymbol{\lambda} \succ^d \boldsymbol{\gamma}$, then $\boldsymbol{\lambda} \succ^w \boldsymbol{\gamma}$.

Lemma 2.2. Let $b(x) = x/(1 - e^{-x})$, $c(x) = xe^{-x}/(1 - e^{-x})$. Then, if $x > 0$, $b(x)$ is increasing, $c(x)$ is decreasing, $c'(x)$ is increasing, and $b'(x)c(x)$ is decreasing.

Lemma 2.3. Let $b(x) = x/(1 - e^{-x})$, $c(x) = xe^{-x}/(1 - e^{-x})$. Then, for any $x_1, x_2 > 0$,

$$2b'(x_1)c(x_1) + c'(x_2)[b(x_2) - b(x_1)] > 0.$$

3. MAIN RESULTS AND PROOFS

Theorem 3.1. Consider two parallel systems with components whose lifetimes are X_1, \dots, X_n and Y_1, \dots, Y_n , respectively. Assume, for $i = 1, \dots, n$, that X_i follows an exponential distribution with hazard rate λ_i and Y_i follows an exponential distribution with hazard rate γ_i . Then,

$$(\lambda_1, \dots, \lambda_n) \stackrel{d}{\succeq} (\gamma_1, \dots, \gamma_n) \implies T(\lambda_1, \dots, \lambda_n) \geq_{lr} T(\gamma_1, \dots, \gamma_n).$$

Proof. Let $U = T(\lambda_1, \dots, \lambda_n)$ and $V = T(\gamma_1, \dots, \gamma_n)$. By Lemma 2.2, $\boldsymbol{\lambda} \stackrel{w}{\succeq} \boldsymbol{\gamma}$. By the result of Misra and Misra (2013), $U \geq_{rh} V$. From Theorem 1.C.4(b) of Shaked and Shanthikumar (2007), it is enough to show that the ratio of the reversed hazard rate function of U over that of V is increasing in $t > 0$. Denote the reversed hazard rate function of $U = T(\lambda_1, \dots, \lambda_n)$ by $r_{\boldsymbol{\lambda}}(t)$, and that of V by $r_{\boldsymbol{\gamma}}(t)$. We have,

$$\psi(t) = \frac{r_{\boldsymbol{\lambda}}(t)}{r_{\boldsymbol{\gamma}}(t)} = \frac{\sum_{i=1}^n \frac{\lambda_i e^{-\lambda_i t}}{1 - e^{-\lambda_i t}}}{\sum_{i=1}^n \frac{\gamma_i e^{-\gamma_i t}}{1 - e^{-\gamma_i t}}} \stackrel{\text{def}}{=} \frac{\varphi(\boldsymbol{\lambda}; t)}{\varphi(\boldsymbol{\gamma}; t)}.$$

For convenience, we denote $A \stackrel{\text{sgn}}{=} B$ if A and B are of the same sign. So,

$$\psi'(t) \stackrel{\text{sgn}}{=} \varphi'_t(\boldsymbol{\lambda}; t)\varphi(\boldsymbol{\gamma}; t) - \varphi(\boldsymbol{\lambda}; t)\varphi'_t(\boldsymbol{\gamma}; t) \stackrel{\text{sgn}}{=} \frac{\varphi'_t(\boldsymbol{\lambda}; t)}{\varphi(\boldsymbol{\lambda}; t)} - \frac{\varphi'_t(\boldsymbol{\gamma}; t)}{\varphi(\boldsymbol{\gamma}; t)},$$

where

$$\frac{\varphi'_t(\boldsymbol{\lambda}; t)}{\varphi(\boldsymbol{\lambda}; t)} = - \frac{\sum_{i=1}^n \frac{\lambda_i^2 e^{-\lambda_i t}}{(1 - e^{-\lambda_i t})^2}}{\sum_{i=1}^n \frac{\lambda_i e^{-\lambda_i t}}{1 - e^{-\lambda_i t}}},$$

and similarly for $\varphi'_t(\boldsymbol{\gamma}; t)/\varphi(\boldsymbol{\gamma}; t)$.

Consider the function

$$\Phi(x_1, \dots, x_n) = \frac{\sum_{i=1}^n \frac{x_i^2 e^{-x_i}}{(1 - e^{-x_i})^2}}{\sum_{i=1}^n \frac{x_i e^{-x_i}}{1 - e^{-x_i}}}, \quad 0 < x_1 \leq x_2 \leq \dots \leq x_n.$$

Denote the numerator part of $\Phi(x_1, \dots, x_n)$ by N , and the denominator part by D . Let $b(x) = x/(1 - e^{-x})$, $c(x) = xe^{-x}/(1 - e^{-x})$, and $d(x) = b(x)c(x)$. In terms of these functions,

$$N = \sum_{i=1}^n d(x_i), \quad D = \sum_{i=1}^n c(x_i), \quad \frac{\partial \Phi}{\partial x_i} \stackrel{\text{sgn}}{=} \frac{\partial N}{\partial x_i} D - N \frac{\partial D}{\partial x_i} = d'(x_i)D - c'(x_i)N.$$

By Lemma 2.1, for $x > 0$, $c(x)$ is decreasing, $c'(x)$ is increasing, $b(x)$ is increasing, and the function $b'(x)c(x)$ is decreasing. Hence,

$$\begin{aligned} \nabla_{\epsilon_k} \Phi &= \frac{\partial \Phi}{\partial x_1} - \frac{\partial \Phi}{\partial x_k} = [d'(x_1) - d'(x_k)] \sum_{j=1}^n c(x_j) - [c'(x_1) - c'(x_k)] \sum_{j=1}^n b(x_j)c(x_j) \\ &\geq \left\{ [d'(x_1) - d'(x_k)] - [c'(x_1) - c'(x_k)]b(x_1) \right\} \sum_{j=1}^n c(x_j) \\ &\stackrel{\text{sgn}}{=} [d'(x_1) - d'(x_k)] - [c'(x_1) - c'(x_k)]b(x_1) \\ &= b'(x_1)c(x_1) + b(x_1)c'(x_1) - b'(x_k)c(x_k) - b(x_k)c'(x_k) - c'(x_1)b(x_1) + c'(x_k)b(x_1) \end{aligned}$$

$$\begin{aligned}
&= b'(x_1)c(x_1) - b'(x_k)c(x_k) - b(x_k)c'(x_k) + c'(x_k)b(x_1) \\
&= b'(x_1)c(x_1) - b'(x_k)c(x_k) - c'(x_k)[b(x_k) - b(x_1)] \\
&\geq b'(x_1)c(x_1) - b'(x_k)c(x_k) \geq 0.
\end{aligned}$$

For $\nabla_{\delta_k} \Phi$, we have,

$$\begin{aligned}
\nabla_{\delta_k} \Phi &= \frac{\partial \Phi}{\partial x_1} + \frac{1}{2} \frac{\partial \Phi}{\partial x_k} \\
&= \left[d'(x_1) + \frac{1}{2} d'(x_k) \right] \sum_{j=1}^n c(x_j) - \left[c'(x_1) + \frac{1}{2} c'(x_k) \right] \sum_{j=1}^n b(x_j) c(x_j) \\
&\geq \left\{ \left[d'(x_1) + \frac{1}{2} d'(x_k) \right] - \left[c'(x_1) + \frac{1}{2} c'(x_k) \right] b(x_1) \right\} \sum_{j=1}^n c(x_j) \\
&\stackrel{\text{sgn}}{=} \left[d'(x_1) + \frac{1}{2} d'(x_k) \right] - \left[c'(x_1) + \frac{1}{2} c'(x_k) \right] b(x_1) \\
&= b'(x_1)c(x_1) + b(x_1)c'(x_1) + \frac{1}{2} b'(x_k)c(x_k) + \frac{1}{2} b(x_k)c'(x_k) - c'(x_1)b(x_1) - \frac{1}{2} c'(x_k)b(x_1) \\
&= b'(x_1)c(x_1) + \frac{1}{2} b'(x_k)c(x_k) + \frac{1}{2} c'(x_k)[b(x_k) - b(x_1)] \\
&\geq b'(x_1)c(x_1) + \frac{1}{2} c'(x_k)[b(x_k) - b(x_1)] \\
&\stackrel{\text{sgn}}{=} 2b'(x_1)c(x_1) + c'(x_k)[b(x_k) - b(x_1)] \geq 0,
\end{aligned}$$

where the last inequality comes from Lemma 2.3.

By Lemma 2.1, $\lambda \stackrel{d}{\succ} \gamma$ implies $\mathbf{v} = \gamma - \lambda = \sum a_i \boldsymbol{\epsilon}_i + \sum b_j \boldsymbol{\delta}_j$, with $a_i, b_j \geq 0$. Thus, $\nabla_{\mathbf{v}} \Phi = \sum a_i \nabla_{\boldsymbol{\epsilon}_i} \Phi + \sum b_j \nabla_{\boldsymbol{\delta}_j} \Phi \geq 0$. Hence, in the direction $\mathbf{v} = \gamma - \lambda$, the function $\Phi(x_1, \dots, x_n)$ is increasing. Therefore,

$$\begin{aligned}
\psi'(t) &\stackrel{\text{sgn}}{=} \frac{\varphi'_t(\boldsymbol{\lambda}; t)}{\varphi(\boldsymbol{\lambda}; t)} - \frac{\varphi'_t(\boldsymbol{\gamma}; t)}{\varphi(\boldsymbol{\gamma}; t)} = - \frac{\sum_{i=1}^n \frac{\lambda_i^2 t^2 e^{-\lambda_i t}}{(1 - e^{-\lambda_i t})^2}}{\sum_{i=1}^n \frac{\lambda_i t e^{-\lambda_i t}}{1 - e^{-\lambda_i t}}} + \frac{\sum_{i=1}^n \frac{\gamma_i^2 t^2 e^{-\gamma_i t}}{(1 - e^{-\gamma_i t})^2}}{\sum_{i=1}^n \frac{\gamma_i t e^{-\gamma_i t}}{1 - e^{-\gamma_i t}}} \\
&= \Phi(\gamma_1 t, \dots, \gamma_n t) - \Phi(\lambda_1 t, \dots, \lambda_n t) \geq 0.
\end{aligned}$$

This shows that $\psi'(t) \geq 0$, and thus $T(\lambda_1, \dots, \lambda_n) \geq_{lr} T(\gamma_1, \dots, \gamma_n)$. \square

Remark 3.2. For $n = 2$, $(\lambda_1, \lambda_2) \stackrel{m}{\succ} (\gamma_1, \gamma_2)$ is equivalent to $(\lambda_1, \lambda_2) = (\gamma_1, \gamma_2)$, or, $\gamma_2 - \lambda_2 = -(\gamma_1 - \lambda_1) < 0$. Excluding the trivial condition $(\lambda_1, \lambda_2) = (\gamma_1, \gamma_2)$, the majorization order $(\lambda_1, \lambda_2) \stackrel{m}{\succ} (\gamma_1, \gamma_2)$ is equivalent to $(\gamma_1, \gamma_2) - (\lambda_1, \lambda_2) = (1, -1)$. Hence, Theorem 3.1 generalizes and extends the classical DKR theorem to the case of $n \geq 2$.

Remark 3.3. By Theorem 1.C.8. in Shaked and Shanthikumar (2007), the likelihood ratio order is closed under increasing transformations. It is self-evident that an increasing transformation keeps the maximum order. Hence, Theorem 3.1 can be readily extended to the case of the proportional hazard rate (PHR) models and the case of Weibull distributed variables.

4. DISCUSSION

For a parallel system with two exponential components, the DKR theorem shows that the reliability of the system (in terms of likelihood ratio order) is decreasing in the direction $(1, -1)$. Wang and Laniado (2015) proved that the reliability of the system is decreasing in the directions $(1, -1)$, $(1, \frac{1}{2})$, and their combinations. As pointed out by Boland *et al.* (1994), the DKR theorem cannot be extended directly

to the cases of $n \geq 3$. In this paper, we find a way to extend the result of Wang and Laniado (2015) to general n , and incidentally, extend the DKR theorem to general n .

Based on the result of Wang and Laniado (2015), the reliability of the system is decreasing in the direction $(1, a)$, $-1 \leq a \leq 1/2$. As we have mentioned, the reliability of the system is not decreasing in the direction $(1, \infty)$. It is an interesting question, what is the maximum value of a such that the reliability of the system is decreasing in the direction $(1, a)$. Further investigation is needed for this question.

APPENDIX: PROOFS OF THE LEMMAS

Proof of Lemma 2.1. Denote $\mathbf{v} = \gamma - \boldsymbol{\lambda} = (v_1, v_2, \dots, v_n)$. Clearly, $\boldsymbol{\lambda} \succ^w \gamma$ if and only if $\sum_{i=1}^k v_i \geq 0$ for any $k = 1, \dots, n$. When $\boldsymbol{\lambda} \succ^d \gamma$, it is a combination of those $\boldsymbol{\epsilon}_k$ and $\boldsymbol{\delta}_j$. The lemma is self-evident now. \square

Proof of Lemma 2.2. We just establish that the function $b'(x)c(x)$ is decreasing in $x > 0$. Denote $p(x) = 1 - e^{-x} - xe^{-x}$. Then, $b'(x)c(x) = [p(x)xe^{-x}]/(1 - e^{-x})^3$. We have,

$$\begin{aligned} [b'(x)c(x)]' &= [p(x)xe^{-x}](1 - e^{-x})^{-3} - 3(1 - e^{-x})^{-4}[p(x)xe^{-x}] \\ &\stackrel{\text{sgn}}{=} [p(x)xe^{-x}](1 - e^{-x}) - 3e^{-x}[p(x)xe^{-x}] \\ &\stackrel{\text{sgn}}{=} [x^2e^{-x} + p(x)(1 - x)](1 - e^{-x}) - 3xp(x)e^{-x} \\ &= 1 - x - 2e^{-x} - 2xe^{-x} + 2x^2e^{-x} + e^{-2x} + 3xe^{-2x} + x^2e^{-2x} \\ &\stackrel{\text{def}}{=} I(x). \end{aligned}$$

Easily,

$$\begin{aligned} I'(x) &= -1 + 6xe^{-x} - 2x^2e^{-x} + e^{-2x} - 4xe^{-2x} - 2x^2e^{-2x} \\ &\stackrel{\text{sgn}}{=} -e^{2x} + 6xe^x - 2x^2e^x + 1 - 4x - 2x^2 \\ &\stackrel{\text{def}}{=} -J(x). \end{aligned}$$

We have,

$$\begin{aligned} J'(x) &\stackrel{\text{sgn}}{=} e^{2x} - 3e^x - xe^x + x^2e^x + 2 + 2x, \\ J''(x) &= 2e^{2x} - 4e^x + xe^x + x^2e^x + 2 \\ &\geq 2e^{2x} - 4e^x + 2 \geq 0. \end{aligned}$$

So, $J'(x) \geq J'(0) = 0$ and thus, $J(x) \geq J(0) = 0$. Hence, $I'(x) \leq 0$, which indicates that the function $b'(x)c(x)$ is decreasing in $x > 0$. \square

Proof of Lemma 2.3. It is clear that the conclusion is valid when $x_1 > x_2 > 0$, since the function $b(x)$ is increasing. Consider the function $f(x) = 2b'(x_1)c(x) + b(x_1)c(x) - b(x)c(x)$, $x > x_1 > 0$. Clearly, $f(x_1) = f(\infty) > 0$, so this function has an extreme value at a point $x_0 \in (x_1, \infty)$. We have,

$$\begin{aligned} f'(x) &= b(x_1)c'(x) - [b(x)c(x)]' \\ &= b(x_1)c'(x) - b'(x)c(x) - b(x)c'(x) \\ &= b(x_1)[b'(x)e^{-x} - c(x)] - b'(x)c(x) - b(x)[b'(x)e^{-x} - c(x)] \\ &= b(x_1)b'(x)e^{-x} - b(x_1)c(x) - 2b'(x)c(x) + b(x)c(x). \end{aligned}$$

So, x_0 satisfies

$$b(x_1)b'(x_0)e^{-x_0} - b(x_1)c(x_0) - 2b'(x_0)c(x_0) + b(x_0)c(x_0) = 0.$$

Thus,

$$f_{\min} = f(x_0) = 2b'(x_1)c(x_1) + b(x_1)c(x_0) - b(x_0)c(x_0)$$

$$\begin{aligned}
&= 2b'(x_1)c(x_1) + b(x_1)c(x_0) + b(x_1)b'(x_0)e^{-x_0} - b(x_1)c(x_0) - 2b'(x_0)c(x_0) \\
&= 2b'(x_1)c(x_1) + b(x_1)b'(x_0)e^{-x_0} - 2b'(x_0)c(x_0) \\
&> 2b'(x_1)c(x_1) - 2b'(x_0)c(x_0) > 0.
\end{aligned}$$

This completes the proof of the lemma. □

ACKNOWLEDGMENTS

The authors thank the editor and the referees for detecting some errors and providing their valuable comments and suggestions that led to an improved version of the article.

REFERENCES

1. N. Balakrishnan and P. Zhao, "Ordering Properties of Order Statistics from Heterogeneous Populations: A Review with an Emphasis on Some Recent Developments (with Discussions)", *Probab. in Eng. and Inform. Sci.* **27**, 403–469 (2013).
2. P. J. Boland, E. El-Newehi, and F. Proschan, "Applications of Hazard Rate Ordering in Reliability and Order Statistics", *J. Appl. Probab.* **31**, 180–192 (1994).
3. G. Da, W. Ding, and X. Li, "On Hazard Rate Ordering of Parallel Systems with Two Independent Components", *J. Statist. Planning and Inference* **140**, 2148–2154 (2010).
4. R. Dykstra, S. C. Kochar, and J. Rojo, "Stochastic Comparisons of Parallel Systems of Heterogeneous Exponential Components", *J. Statist. Planning and Inference* **65**, 203–211 (1997).
5. S. Joo and J. Mi, "Some Properties of Hazard Rate Functions of Systems with Two Components", *J. Statist. Planning and Inference* **140**, 444–453 (2010).
6. S. C. Kochar and M. Xu, "Stochastic Comparisons of Parallel Systems when Components Have Proportional Hazard Rates", *Probab. in Eng. and Inform. Sci.* **21**, 597–609 (2007).
7. A. W. Marshall, I. Olkin, and B. C. Arnold, *Inequalities: Theory of Majorization and Its Applications*, 2nd ed. (Springer, New York, 2011).
8. N. Misra and A. K. Misra, "On Comparison of Reversed Hazard Rates of Two Parallel Systems Comprising of Independent Gamma Components", *Statist. and Probab. Lett.* **83**, 1567–1570 (2013).
9. P. Pledger and F. Proschan, "Comparison of Order Statistics and of Spacings from Heterogeneous Distributions", in *Optimizing Methods in Statistics*, Ed. by J. S. Rustagi (Academic Press, New York, 1971), pp. 89–113.
10. M. Shaked and J. G. Shanthikumar, *Stochastic Orders*. Springer, New York, 2007.
11. N. Torrado and S. C. Kochar, "Stochastic Order Relations among Parallel Systems from Weibull Distributions", *J. Appl. Probab.* **52**, 102–116 (2015).
12. J. Wang and H. Laniado, "On Likelihood Ratio Ordering of Parallel System with Two Exponential Components", *Operations Research Lett.* **43**, 195–198 (2015).
13. R. Yan, G. Da, and P. Zhao, "Further Results for Parallel Systems with Two Heterogeneous Exponential Components", *Statist.* **47**, 1128–1140 (2013).
14. P. Zhao and Y. Zhang, "On Sample Ranges in Multiple-Outlier Models", *J. Multivar. Anal.* **111**, 335–349 (2012).
15. P. Zhao and N. Balakrishnan, "Some Characterization Results for Parallel Systems with Two Heterogeneous Exponential Components", *Statist.* **45**, 593–604 (2011).
16. P. Zhao and N. Balakrishnan, "Stochastic Comparisons of Largest Order Statistics from Multiple-Outlier Exponential Models", *Probab. in Eng. and Inform. Sci.* **26**, 159–182 (2012).